
Part Number: Y-R-8-BAG
Description: Fleetliner Saddle Bags
Fitment: 2008 Yamaha Raider
Revision: 1

Tools Required Parts List
5/8" Open wrench
12mm Socket wrench
14mm Socket wrench
6mm Hex key (Allen wrench)

5  #P00070  Stainless steel studs 8  3/8" x 16 Chrome Acorn nuts
5  #P10071  Stainless steel spacers 2  m6 x 1 x 30mm Chrome button head Allen screws
1  #A00984  Fender bracket 2  6mm Chrome flat washers
1  #A00983  Left lower mounting bracket 2  m6 x 16mm Flat head screws
2  10mm x 1.25 x 55mm Hex head bolts 2  m6 Chrome Flat washers
8  3/8" Flat washers 2  m6 Nylock nuts
8  3/8" Split lock washers

NOTE: We recommend the use of Loctite® or
similar thread lock product when assembling parts
on your motorcycle. 

1.  Start by removing the two bolts on the fender
struts (Figure 1), using a 6mm hex key.  Discard
the bolts.

2.  Replace the fender rail bolts with the supplied
stainless steel studs and spacers (Figure 2), using
a 5/8” wrench. Use Loctite® and tighten to 12 ft.
lbs. 

3.  Remove the left side passenger footpeg with a
12 mm socket wrench.

4.  With the footpeg bracket removed, install the
supplied lower mounting bracket (#A00983)
between the frame and the footpeg.  Secure with
the stock bolts  (Figure 3).  Use Loctite® and
tighten to 18 ft. lbs. 

5.  On the right side, remove the bolt on the
exhaust hanger with a 6mm hex key.  Discard the
bolt, but you will be reusing the flat washer

6.  Secure the exhaust hanger with the stock
washer, the supplied spacer and stainless steel
stud (Figure 4).  Use Loctite® and tighten to 
12 ft. lbs. 

FIG 1

FIG 2

FIG 3



7.  Remove the license plate hanger (Figure 5).
Discard bracket and bolts.

8.  Now install Corbin bracket (#A00984) and
secure it with the supplied m6 x 1 x m16 flat head
screw, flat washer and nylock nut (Figure 6).  Use
Loctite® and tighten to 8 ft. lbs.

9.  You are now ready to install the saddlebags.
Carefully align the bags with the four mounting
studs and secure with a flat washer, lock washer
and chrome acorn nut (Figure 7). Use Loctite®
and tighten to 8 ft. lbs.

10.  Reinstall your license plate onto the two
threaded barrels on the Corbin bracket #A00984.

11.  That's it, you're ready to roll. Have a great
ride and keep the Corbin side up!

Questions? Give us a holler...

800-223-4332
tech@corbin.com

FIG 4

FIG 5

FIG 6

FIG 7


